








𝑎

𝑏
= 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡𝑒

𝑎

𝑏
= 𝐾

𝑎 → 𝑞𝑢𝑎𝑛𝑡𝑖𝑎 𝑟𝑒𝑐𝑒𝑏𝑖𝑑𝑎 (𝑟𝑒𝑎𝑖𝑠)

b → 𝑖𝑑𝑎𝑑𝑒 (𝑎𝑛𝑜𝑠)

𝑎1
𝑏1

= 𝐾

𝑎1
7
= 𝐾

1ª criança:

𝑎2
𝑏2

= 𝐾

𝑎2
9
= 𝐾

2ª criança: 𝑎1
7
=

𝑎2
9
=

𝑎1 + 𝑎2
7 + 9

= 𝐾

𝑎1
7
=

𝑎2
9
=

448

16



𝑎1
7
=

𝑎2
9
=

448

16
𝑎1
7
=
448

16
𝑎1
7
= 28

𝑎1 = 196 𝑟𝑒𝑎𝑖𝑠

𝑎2
9
=
448

16
𝑎2
9
= 28

𝑎2 = 252 𝑟𝑒𝑎𝑖𝑠



𝑎

𝑏
= 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡𝑒

𝑎

𝑏
= 𝐾

𝑎 → 𝑞𝑢𝑎𝑛𝑡𝑖𝑎 𝑟𝑒𝑐𝑒𝑏𝑖𝑑𝑎 (𝑟𝑒𝑎𝑖𝑠)

b → 𝑖𝑑𝑎𝑑𝑒 (𝑎𝑛𝑜𝑠)

𝑎1
𝑏1

= 𝐾

𝑎1
7
= 𝐾

1ª criança:

𝑎1 = 7𝐾

𝑎2
𝑏2

= 𝐾

𝑎2
9
= 𝐾

2ª criança:

𝑎2 = 9𝐾

𝑎1 + 𝑎2 = 448

7𝐾 + 9𝐾 = 448

16𝐾 = 448

𝐾 = 28

𝑎1 = 7𝐾 = 7 . 28

𝑎2 = 9𝐾 = 9 . 28

𝑎1 = 196 reais

𝑎2 = 252 reais







𝑎 → 𝑞𝑢𝑎𝑛𝑡𝑖𝑎 𝑟𝑒𝑐𝑒𝑏𝑖𝑑𝑎 (𝑟𝑒𝑎𝑖𝑠)

b → 𝑖𝑑𝑎𝑑𝑒 (𝑎𝑛𝑜𝑠)

𝑎 . 𝑏 = 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡𝑒

𝑎 . 𝑏 = 𝐾

𝑨𝒏𝒂:
𝐴 . 4 = 𝐾

𝐴 =
𝐾

4

𝑹𝒆𝒏𝒂𝒕𝒐:
𝑅 . 5 = 𝐾

𝑅 =
𝐾

5

𝐶𝑎𝑟𝑙𝑜𝑠:
𝐶 . 20 = 𝐾

𝐶 =
𝐾

20



𝐴 + 𝑅 + 𝐶 = 360.000

𝐾

4
+
𝐾

5
+

𝐾

20
= 360.000

5𝐾 + 4𝐾 + 𝐾

20
= 360.000

10 𝐾

20
= 360.000

𝐾

2
= 360.000

𝐾= 720.000



𝑨𝒏𝒂:

𝐴 =
𝐾

4

𝐴 =
720.000

4
= 180.000

Renato:

𝑅 =
𝐾

5

𝑅 =
720.000

5
= 144.000

Carlos:

𝐶 =
𝐾

20

𝐶 =
720.000

20
= 36.000



𝑆 𝛼 𝑏

𝑆 𝛼 𝑑²

𝑆 = 𝑘 . 𝑏 . 𝑑²



𝐶 𝛼 𝑙

𝐶 𝛼 𝑒²

𝐶 𝛼
1

𝑐

𝐶 = 𝐾
𝑙 . 𝑒²

𝑐

2400 = 𝐾
15 . 10²

200

K =
2400 . 200

15 . 100

K =
2400 . 2

15

K =
4800

15

K = 320

𝐶 = 𝐾
𝑙 . 𝑒²

𝑐

𝐶 = 320
20 . 12²

240

𝐶 = 320
12 . 12

12

𝐶 = 320 . 12

𝐶 = 3840 𝐾𝑔



1 colher de sopa -------------- 15 mL
2 colheres de sopa -------------- x

x  = 2. 15

x  = 30 mL

30 mL -------------- 1 dose 
1500 mL -------------- y

y  = 50 doses





1

58.000.000
=

7,6

𝑥

𝐸𝑠𝑐𝑎𝑙𝑎 =
𝑀𝑒𝑑𝑖𝑑𝑎𝑚𝑎𝑝𝑎

𝑀𝑒𝑑𝑖𝑑𝑎𝑟𝑒𝑎𝑙

𝑥 = 7,6 . 58 . 106

𝑥 = 440,8 . 106 𝑐𝑚

𝑥 = 440,8 . 106 . 10−5 𝐾𝑚

𝑥 = 440,8 . 101 𝐾𝑚

𝑥 = 4408 𝐾𝑚

1 cm -------------- 58.000.000 cm

1 cm -------------- 580 Km

7,6 cm -------------- x

𝑥 = 4408 𝐾𝑚



E𝑠𝑐𝑎𝑙𝑎𝑐𝑜𝑚𝑝𝑟𝑖𝑚𝑒𝑛𝑡𝑜 =
1

200

E𝑠𝑐𝑎𝑙𝑎𝑣𝑜𝑙𝑢𝑚𝑒 =
1

200

3

=
1

2 . 10²

3

1

8 . 106
=

45

𝑥

𝑥 = 360 . 106 𝑐𝑚³

𝑥 = 360 . 106 . 10−3𝑑𝑚³

𝑥 = 360 . 103 𝐿

30.000 L ------ 1 dia 

360.000 L ------ y

y  = 12 dias

E𝑠𝑐𝑎𝑙𝑎𝑣𝑜𝑙𝑢𝑚𝑒 =
1

8 . 106
=

𝑉𝑜𝑙𝑢𝑚𝑒𝑚𝑎𝑞𝑢𝑒𝑡𝑒

𝑉𝑜𝑙𝑢𝑚𝑒𝑟𝑒𝑎𝑙



𝐴𝑚𝑝𝑙𝑖𝑎çã𝑜 =
𝐸𝑠𝑐𝑎𝑙𝑎𝑚𝑎𝑖𝑜𝑟

𝐸𝑠𝑐𝑎𝑙𝑎𝑚𝑒𝑛𝑜𝑟
=

𝐸𝑠𝑐𝑎𝑙𝑎𝑅𝐽
𝐸𝑠𝑐𝑎𝑙𝑎𝐵𝑟𝑎𝑠𝑖𝑙

𝐴𝑚𝑝𝑙𝑖𝑎çã𝑜 =

1
4.000.000

1
25.000.000

𝐴𝑚𝑝𝑙𝑖𝑎çã𝑜 =
25.000.000

4.000.000

𝐴𝑚𝑝𝑙𝑖𝑎çã𝑜 =
25

4

𝐴𝑚𝑝𝑙𝑖𝑎çã𝑜Á𝑟𝑒𝑎 =
25

4

2

𝐴𝑚𝑝𝑙𝑖𝑎çã𝑜Á𝑟𝑒𝑎 =
625

16

𝐴𝑚𝑝𝑙𝑖𝑎çã𝑜Á𝑟𝑒𝑎 = 39,1


